Losung Aufgabe 1

public void stadteTest () {
a) stadte.add ("Hamburg");
stadte.add ("Berlin") ;
stadte.add ("Frankfurt") ;
stadte.add ("Koln") ;
System.out.println(stadte.contains ("Wirzburg")) ;
stadte.set (2, "Warzburg") ;
System.out.println(stadte.contains ("Wirzburg"));
stadte.remove ("Hamburg") ;
System.out.println(stadte.get (0));
System.out.println(stadte.size());
for (String i: stadte) {

System.out.println(i);
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}

stadte.add (0, "Minchen");

System.out.println (stadte);

stadte.remove (1) ;

for (String 1i: stadte) {
System.out.println(i);
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}

m) stadte.clear () ;
System.out.println(stadte.size());
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